MAT 1180, Reitz


I
If 
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, find the measures of both angles
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II
Find the measures of angles 1-5 in the figure.  For each one, explain how you found it (for example: “vertical angles are equal”)
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III

A  man who is 6 feet tall is standing 10 feet from the base of a lamppost.  The man’s shadow has a length of 4 feet.  How tall is the lamppost?
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IV

a.  A wheelchair ramp with a length of 122 inches has a horizontal distance of 120 inches.  What is the ramp’s vertical distance?

b. Construction laws are very specific when it comes to access ramps for the disabled.  Every vertical rise of 1 inch requires a horizontal run of 12 inches.  Does this ramp satisfy the requirement?
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